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int traversel(int k, int key)

{
int t;
visited [k]

1;

if (k == key)
f = 1;

for (t = adjlk]; (next[t] != 0) && (f == 0)
; t = next[t]){

if (!visited([vallt]])
traversel (val[t],key);
}

return f;
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procedure traverse(int k, stack

g, int adj[],int

int key, int f,

visited[], int next[], int wvall[l) \\ 1
local int t = adj[k] AN\ 1
visited[k] ~= 1 \\ 1
if k = key then \\ s
f =1 \\ s
fi k = key \\ s
from t = adjl[k] loop \\ L+1-8
if visited[val[t]]=0 themn \\ L
call traverse(vall[t], key, f, g, adj,
visited,next, val) \\ L
push(1, g) \\ L
else
push (0, g) \\ 1-8
fi top(g) =1 \\ L
t "= adj[k] \\ L-8
t "= next[adj[k]] \\ L-S
until next([t] = 0 || £ !'= 0 \\ L+1-8
push(t, g) \\ 1
delocal int t = 0 \N\ 1

procedure traverse_b(int k, int key, int f,int

adj[]l,int visited[]l, int

next[], int vall[]) \\ 1

local stack g = nil AN\ 1

local int x = 0 \\ 1
call traverse(k, key, x, g, adj, visited

, next, val) \\ 1

f "= x \\ 1

uncall traverse(k, key, x, g, adj,

visited, next, val) \\ 1

delocal int x = 0 \N\ 1

delocal stack g = nil \\ 1
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